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Date Page Details
July 11 501 The figure on the right should be labeled as “Cross entropy” instead of

“Cross ntropy”.
July 10 28 In the solution of part (b) of Example 1.3.6, the direction of the inequality

concerning R2
1 and R2

2 should be reversed:

R2
1 = 1 − RSS1

TSS1

= 1 > 1 − RSS2

TSS2

= R2
2.

268 In the paragraph beginning “1. Response distribution: While...”, “precis”
should be spelled as “precise”.

470 The first line of Example 8.1.3 should say “Consider a data set with 8
observations.”

473 Line 7 should read ζ00 = (R000, R001).
474 In Example 8.2.1, there should be 4 instead of 3 elements in R3.
479 A few lines below formula (8.2.4), Figure 8.5.3d should be Figure 8.2.3d.

July 9 33 In the solution of Example 1.4.2, the first SE should be V̂ar:

V̂ar (β̂1) =
s2

Sxx

=
11.5

4(1 − 0.4)2 + 6(−0.4)2
=

115

24
.

39 In the boxed formula, x should have * as a subscript instead of a super-
script:

ŷ∗ = β̂0 + β̂1 x∗ .

49 In the first line of the solution of Problem 1.6.8, we should minimize∑
(yi − β x2

i )2 instead of
∑

(yi − βxi)
2.

54-55 This problem, which involves more than one explanatory variable, should
belong to Chapter 2 (Multiple Linear Regression).
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316 The model equation displayed in the middle of the page should read

lnµi = lnEi + x′iβ = lnEi︸︷︷︸
offset

+ β0 + β1xi1 + · · · + βkxik .
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